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Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each section. Marks distribution for all students
are as shown in question paper. The blind candidates will be given 80 minutes

exira time.
W A : IRE Section A : Objective Regular 15x1=15/Private 15x1=15
1. & e ¥ by oz (7o) §
(1) SP w#fty (¥) P Fafe & sp? #afta (z) % & ®% a8 |

The carbon atom in benzene ring are -
a) SP Hybridised (b) SP® Hybridised tc) SP? Hybridised (d) None of these

2. e ¥

(o1} b 0w (7) DDT

(@) Ty g dew (%) TNT

Gammexane is .

(a) Hexachlore Ethane b) DDT

(¢} Hexachlore Cyclo Hexane (d) TNT.
3 ©ZE #FTeE snfEar ¥ AlCl, ® g ¥ . http://’www.davvonline.com

(a1) arferm eniy (%) FrofdrwTs (@) TR & (2) ®r¢ oFr 7 |

The work of AICL, in Friedel-Crafts Reaction

(a) Nucleophile (b) Dehydrating Reagent

(c} Electrophile (d) None of these.
4 uethew ¥ yedrw g &1 #% ¥ The order of acidity in alcohols :

(a) 1°>2°>3° () 2°53°>1° () 3°>2°>1° (d) 3°>1°>2°
5 Tre soefta & | Wi

(%) gz & (@) e mm & (v) T g (z) TetraTE AW & |

Phenol is Acidic because of - | g

(a} Resonance (b) Electromeric Effect (c) Inductive Effect  {d) Peroxide Effect.
6. =¥y afirwfE ¥ . Lucas Reagent is -

ta) HCI / NaNO, (b) H, / Pd (c) HC1 / ZnCl, (d) H, / Pd / BaSO,
7. #aw ¥ : Fischer Salt is

Kd[ Co(NO,. | () Nas[Co{Nozjﬁ;; (© K,,[Fe (CN)g | (d; Kq[l!‘e (CN}s]
8. INi(CO),] ¥ Ni # el sraear ¥ . The oxidation state of Ni in [Ni (CO),) is -

(a) 0 2 (c) 4 d) 6
9 &= & avy T &4ft % U smn & Which element used in Cancer Therapy :
{a) Rn (b) Th f\i_} Co LE!_:_U
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TR ¥ : Wy Iwfw Section B : Short Answer
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2
Mn, (CO), # Mn & E AN (0l comy wom) | a &
Effective Atormic Number (EAN) of Mn in Mn,(CO),, 15

DS-343-N

d; 86

(2) Przwtr

id Alumn

(=) ¥g o Al

id) None of these

{z) *r§ of ff

id} None of these

/Li‘]a‘mjﬂm‘rﬁ' |

(n) 35 by 36 "C/M

foer & & ¥19 a1 B saor aft

(%) wr¥argz (T) RYET g (w) gfivr =
Which of the following 1# not Double Salt -

tar Kamehte (b) Mohr Salt {¢) Prussian Blue
of% e ®Y 0 K o7 tar wiq & ¢ Y 2war ot

() ¥ (w) 2 /18 =

If assuming the temperature of sink to be 0 K, then efficiency of engine .
(a) One (b} Two (e} Zero

aramae 9T AG BT ¥

(¥} SRR 7 (T) worraTE (&) o=

At equilibrium AG is -

ta) Positive (b) Negative {c) Zero

et & Faftas oozndt fmfr &

(w) o5 (w) ardr (W) o1 arw
Which of the following having highest entropy °

ta) Tee (b; Water ic) Water Vapour

id) All ef these

Al a5t % T = et ¥ The Henderson equation for an acidic buffer is :

ta) pH = pKa + log ‘:-.--

(c) pOH = pKa - log —= +g2 pH = pKa - log

siyw e sfafEm & By At sy
Give the reaction mechanism of Friedal-Crafts Reaction.
Fyar OR

amy DDT wirtdof & &g a @ ?

How will you synthesis DDT from Chlorobenzene ?

= e & ww (Yre geafas et fafe) - (9 )

(%) iyt argmrw € qraTas s & arw fiser @7t o |
(@) Rew # #fdes crerggree & A sfefear @ 9T |

(8) fFna & arx HNO, ¥ #r= H,80, ¥ ame fimr @ ot |

What happens when (write chenical equation only)  {any two)
(a) Ethylens Glycol reacts with Periodic Acid
(b Pheno! reacts with Phthalic Anhydride

(¢} Phenol reacta with concentrated HNO, and concentrated H,S0,
et AT f H¥FTw 41U Show hybridization in following complexes |

ICu (NH),! CL Ni (COy,, INi (CN), 1%
sgar OR
ARATEY AT ¥ W0 |
Explain Lanthamde Contraction
wurdt qrETy e srrqron w1 @

What is Fffective Atomic Number Concept
waar OR

500 K @ 850 K ¥ @ % v7 @@ 17 33 & 2w o 0

¥

(b} pOH = pKa + log'fzid

It

Regular 5x4=20/Private 5x5=25

What 15 the efficiency of Carmot Engine working between 00 K and 850 K 7
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5 ewfsd B swrwadr mrs & oogrd qud k)

Show Entropy increase in lrreversible Process
Fwar OR
FurlTR F T Fraow B aesmy
Explain Third Law of Thermodynamics,
vy v : i Iwhw Section C: Long Answer Regular 5x10=50/Private 5x12=60
1 & & agafes @l 2 aftwmr oty e AR R arengo
Discuss Electruphilic Substitution and 1ts mechanism in Benszene
¥ OR
= mr w0 AR 3 auam fafe
() AR (@) Tt |
Wnite preparation and uses of following
(a} Gamaxne (b) Teflon
2 anithg, RATs of Fhee oeeea X e & 2 fafvat aneng
Explain three methods of distinguishing Pnmary. Secondary and Tertiary Alcchol
Fuqr OR
v sifsfig o ferfafir emsrge
(#) = st (%) TgwT oA atafdr |
Explain renction mechamsm for following reaction
in) Kolbe Reaction (b! Rismer Tiemann Reaction

g A & FaAr F P o P ofifeg
Discuss properties of elements of First Transition Series.

(#5]

sgar OR
Farer & & fadl 2 we faaoofy it
¥ d - d & (@) F st® gftd= {w) e gufdar |
Write short notes on any two of the following .
() d - d Transition (b} F Block Element (c) Maguetic Susceptibility

4 Az & ¥ 7 g o SEmeer eftr w3 gu 3vdm e
What is Chelate ? Gave 1ts application and classification with suitable examples.

sqqr OR
Frer sitedl & 3T 1 st o oot w7 oftwE AR

Calculate heat of formation of benzene from the following data -

C+0,=CO, 97 0 f&st A8 Kilo Calorie
H+ 10, =10 684 A ¥ Kilo Calorie
C,H, + 7 0, =6C0, « 3H,0 7834 At ®BYB Kilo Calorie
5 (%) wd w37 ¥ oty Afve 1 grft Maw andsar @@
(@) SR ke wEeeT w e S
ta)  Define work function and give its physical significance
by Derive Gibbs Helmholtz equation
sqqr OR
(a1) ¥t Rem=s =v ¥ 7 e wfw awersy |
() awdrg wg & Porffay g |
‘a}  What is a Buffer sciution ? Explain with exampies
tb) Explam the buffer action of an acidw buffer
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